(Shows to nwt) =
$$\int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} di. (must) w [nwt] dt = 0$$
, as $2in (mwt) co (nwt)$ is another function (rudint should)

($an (mwt) ch wt) = \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} di. (must) w [nwt] dt = 0$, as $2in (mwt) co (nwt)$ is another function (rudint should)

($an (mwt) ch wt) = \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} co mwt co nwt dt = \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} ch (mwt) dt = 0$

(a)
$$(m(wt), h(wt)) = \int_{0}^{\infty} \omega m\omega t$$
 is mut is new to $m(wt) + t$ is $(m\omega t - n\omega t) dt = \frac{1}{2} \int_{0}^{\infty} \omega (\omega t (men)) + an (\omega t (m-n)) dt = 0$ (integrating overwise for extra number of revisals)

(in $(m\omega t), h(\omega t) = \int_{0}^{\infty} \sin (m\omega t) \sin (n\omega t) dt = \int_{0}^{\infty} \frac{1}{2} (\omega (m-n)\omega t) - \omega ((m-n)\omega t) dt = 0$ (integration coincides for extra number of revisals)

(in $(m\omega t), h(\omega t) = \int_{0}^{\infty} \sin (m\omega t) \sin (n\omega t) dt = \int_{0}^{\infty} \frac{1}{2} (\omega (m-n)\omega t) - \omega ((m-n)\omega t) dt = 0$ (integration coincides for extra number of periods)

$$f^{(n)}(t) = A_0 + \sum_{\ell=1}^n \left(A_\ell \cos \ell \omega_{i\ell} + B_\ell \partial_i \ell \omega_{i\ell} \right) = A_0 + \sum_{\ell=1}^n \left(\frac{A_{i\ell}}{2} \left(e^{i \ell \omega_{i\ell}} + e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) \right) = A_0 + \sum_{\ell=1}^n \left(\frac{A_{\ell}}{2} \left(e^{i \ell \omega_{i\ell}} + \frac{\beta \ell}{2i} \right) e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) = A_0 + \sum_{\ell=1}^n \left(e^{i \ell \omega_{i\ell}} + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} + e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) \right) = A_0 + \sum_{\ell=1}^n \left(e^{i \ell \omega_{i\ell}} + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} + e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) \right) = A_0 + \sum_{\ell=1}^n \left(e^{i \ell \omega_{i\ell}} + e^{-i \ell \omega_{i\ell}} + e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) \right) = A_0 + \sum_{\ell=1}^n \left(e^{i \ell \omega_{i\ell}} + e^{-i \ell \omega_{i\ell}} + e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) \right) = A_0 + \sum_{\ell=1}^n \left(e^{i \ell \omega_{i\ell}} + e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) \right) = A_0 + \sum_{\ell=1}^n \left(e^{i \ell \omega_{i\ell}} + e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right) + \frac{\beta \ell}{2i} \left(e^{i \ell \omega_{i\ell}} - e^{-i \ell \omega_{i\ell}} \right)$$

Wordy be = ognor (in eq. 3.20) the term Co. 1 Co. 20

And Co

$$A_6 = C_3$$

$$C_6 = \frac{A_6}{2} + \frac{B_6}{2i} \longrightarrow 2C_6 = A_6 - iB_6$$

 $C_{-L} = \frac{A_L}{2} - \frac{B_R}{2i}$ $2C_L = A_L + iB_L$